2014-0065 INTRODUCED BY: V.J. ST. PIERRE, JR., P	
(DEPARTMENT OF PUE	BLIC WORKS)
Change Order No. 1 for Road Maintenance 20	and authorizing the execution of Parish Project No P111002-12, 13, to balance the contract antities resulting in a decrease of
WHEREAS, Ordinance No. 13-9-7 adopted Parish Council awarded constr	d September 3, 2013 by the St. Charles ruction of Parish Project No P111002-12, rriere Construction Co, LLC; and,
WHEREAS, it is necessary to amend the	·
THE ST. CHARLES PARISH COUNCIL HER	REBY ORDAINS:
	lo. 1 for Parish Project No. P111002-12,
Road Maintenance 2013, to decrease the	
approved and accepted.	•
SECTION II. That the Parish President	lent is hereby authorized to execute said
Change Order on behalf of St. Charles Parish	l.
	submitted to a vote, the vote thereon was
as follows:	
COCHRAN, FISHER-PERRIER	SON, WOODRUFF, BENEDETTO, HOGAN,
NAYS: NONE	•
ABSENT: FLETCHER And the ordinance was declared adopt	ted this 24th day of March . 2014.
to become effective five (5) days after publication	
CHAIRMAN! MIAMARIAN	DECORDED IN THE CY. OHADI EO DADIO
SECRETARY:	RECORDED IN THE ST. CHARLES PARISH
DLVD/PARISH PRESIDENT: 500	CLERK OF COURT OFFICE
APPROVED: DISAPPROVED:	_ ON_11/asch 27, 2014
1/)) 0/	AS ENTRY NO. 396 299
PARISH PRESIDENT: W	<u>IN MORTGAGE/CONVEYANCE BOOK</u>
AT: 105 OM RECD BY:	NO. 1569 FOLIO 240
•	

REFERENCE	
ORd. 13-9-7	

CHANGE ORDER

No. 1

DATE OF ISSUANCE	·	EFFECTIVE DATE	

OWNER: St. Charles Parish

CONTRACTOR: Barriere Construction Co., L.L.C., Contract: St. Charles Parish Road Maintenance 2013
Project: St. Charles Parish Road Maintenance 2013

OWNER's Contract No.: P111002-12

ENGINEER: G.E.C., Inc.

ENGINEER's Contract No.: <u>51206105.012</u>

You are directed to make the following changes in the Contract Documents:

Description:

- a. ' Delete the Following Work Items:
 - a. Contract Item No. 7: Base Bid: Adjustment of Drainage Structures

DESCRIPTION: Adjustm	ent of Drainage Structures 👔 🛦	**********	********	X Base Bid or ☐ Alt.#
REF. NO. + 1	QUANTITY:	UNIT OF MEASURE	(UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
7	11	Each	\$50.00	\$550.00

A difference of (- \$550.00)

b. Contract Item No. 9: Base Bid: Relocation of Infrastructure Items

DESCRIPTION: Relocati	on of Infrastructure Items 🕹 🐇	254.144.44.14.14	********	X Base Bid or □ Alt.#
REF. NO.	QUANTITY	UNIT OF MEASURE	UNITIPRICE	UNIT PRICE EXTENSION (Quantity) Itimes Unit Price)
9	1	Lump Sum	\$20,000.00	\$20,000.00

A difference of (- \$20,000.00)

c. Contract Item No. 11: Base Bid: Shoulder Material (Stone Fill)

DESCRIPTION: Shoulde	r Material (Stone Fill)! 🕴 🖫	i i i i i na ka	4281 T4481	X Base Bid or □ Alt.#
REF. NO.	QUANTITY	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
11	11,018	Linear Foot	\$3.00	\$33,054.00

A difference of (- \$33,054.00)

Total of Deleted Base Items = (-\$53,604.00)

a. Contract Item No. 7: Alternate Bid 1: Adjustment of Drainage Structures

DESCRIPTION: Adjustin	ent of Drainage Structures		12464 PARTS	☐ Base Bid or X Alt.# _1_
REF/NO.	QUANTITY	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
7	10	Each	\$50.00	\$500.00

A difference of (- \$500.00)

b. Contract Item No. 11: Alternate Bid 1: Shoulder Material (Stone Fill)

DESCRIPTION: Shoulde	r Material (Stone Fill)			☐ Base Bid or X Alt.# 1
REF. NO.	QUANTITY	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
11	10,447	Linear Foot,	\$3.00	\$31,341.00

A difference of (- \$31,341.00)

Total of Deleted Alternate 1 Items = (-\$31,841.00)

Total of Deleted Items = (-\$85,445.00)

b. Add the Following Work Items:

a. Contract Item No. 15: Base Bid: Railroad Striping

DESCRIPTION: Reflect	X Base Bid or ☐ Alt.#			
ribf. No.	QUANTITY:	Unit of Measure	UNIT PRICE	UNIT PRICE EXTENSION (Quantity (times Unit Price)
15	1	Each	\$3,575.00	\$3,575.00

A difference of (+ \$3,575.00)

Total of Added Base Items = (+\$3,575.00)

Total of Added Items = (+\$3,575.00)

c. Revise the Following Work Item Quantities:

a. Contract Item No. 2: Base Bid: 2 - Inch Depth Cold Plane Current:

DESCRIPTION: 2-Inch	X Base Bid or 🛘 Alt.#			
ref. no.	UNIT PRICE EXTENSION (Quantity three Unit Price)			
2	47,744	Square Yard	\$1.00	\$47,744.00

Change to:

DESCRIPTION: 2-Inch	X Base Bid or □ Alt.#			
rief. No.	UNIT PRICE EXTENSION (Quantity times Unit Price)			
2	44,920	Square Yard	\$1.00	\$44,920.00

A difference of (-\$2,824.00)

b. Contract Item No. 3: Base Bid: 2-Inch Depth Asphaltic Wearing Course Current:

DESCRIPTION: 24 Inch [Depth Asphaltic Weating Course			X Base Bid or 🗆 Alt.#
ref. no.	QUANTITY	Unit of Measure	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
3	5,252	Ton	\$80.00	\$420,160.00

Change to:

DESCRIPTION: 24 Inch [X Base Bid or ☐ Alt.#			
rief. No.	QUANTITY:	Unit of Measure	Uniterice	UNIT PRICE EXTENSION (Quantity (Ilmes Unit Price)
3	4,844.00	Ton	\$80.00	\$387,520.00

 Contract Item No. 4: Base Bid: 6 - Inch Depth Asphalt Patching Current:

DESCRIPTION: 6 - Inch	Depth Asphalt Patching	· · · · · · · · · · · · · · · · · · ·		X Base Bid or 🗅 Alt.#
REF: NO:	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
4	596	Ton	\$125.00	\$74,500.00

Change to:

DESCRIPTION: 6 - Inch	Depth Asphalt Patching	eli dindeli (K. j. d. ki je d. in a.	* * * * * * * * * * * * * * * * * * *	X Base Bid or ☐ Alt.#
Ref. No.	QUANTITY:	UNIT OF MEASURE:	UNITIPAICE	UNITERICE EXTENSION (Quantity: (Imag Unite Price)
4	423	Ton	\$125.00	\$52,875.00

A difference of (- \$21,625.00)

d. Contract Item No. 5: Base Bid: Reflectorized Raised Pavement Markers Current:

DESCRIPTION: Reflecte	X Base Bid or 🗖 Alt.#			
rief. No.	· QUANTITY:	UNIT OF MEASURE	Unit price	UNIT PRICE EXTENSION (Quantity (Ilmes Unit Price)
5	44	Each	\$6.00	\$264.00

Change to:

Cita	50.01			
DESCRIPTION: Reflects	X Base Bid or 🗖 Alt.#			
rief. Inio.	QUANTITY:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
5	42	Each	\$6.00	\$252.00

A difference of (-\$12.00)

e. Contract Item No. 6: Base Bid: Adjustment of Manholes
Current:

DESCRIPTION: Adjustin	rent of Manholes			X Base Bid or Alt.#	
ref. no.	ref. no. quantity: unit of measure: unit price				
6	11	Each	\$100.00	\$1,100.00	

Change to:

DES	CRIPTION: Adjusti	X Base Bid or ☐ Alt.#			
	rief. No.	QUANTITY:	UNIT OF MEASURE	UNIT PRICE	UNIT PRICE EXTENSION (Quantity (Imas Unit Price)
	6	10	Each	\$100.00	\$1,000.00

A difference of (- \$100.00)

f. Contract Item No. 8: Base Bid: Adjustment of Water Valves Current:

DESCRIPTION: Adjustin	X Base Bid or □ Alt.#			
rief. No.	QUANTITY:	UNIT OF MEASURE	unit price	UNIT PRICE EXTENSION (Quantity times Unit Price)
8	11	Each	\$35.00	\$385.00

Change to:

DESCRIPTION: Adjustm	X Base Bid or Alt.#			
rief. No.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity (fines Unit Price)
8	7	Each	\$35.00	\$245.00

A difference of (- \$140.00)

g. Contract Item No. 10: Base Bid: Shoulder Material (Earthen Fill)

	_						
- ($^{\circ}$	ı	rr	6	n	t	

DESCRIPTION: Shoulde	r Material (Earthen Fill)	The state of the s		X Base Bid or 🗖 Alt.#
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
10	11,018	Linear Foot	S1.25	\$13,772.50

Change to:

DESCRIPTION: Shoulde	X Base Bid or ☐ Alt.#			
ref. no.	QUANTITY:	UNIT OF MEASURE	Uniterice	UNIT PRICE EXTENSION (Quantity) Atmos Valt Price)
· 10	26,960	Linear Foot	\$1.25	\$33,700.00

A difference of (+ \$19,927.50)

h. Contract Item No. 12: Base Bid: Shoulder Material (Reclaimed Asphalt Pavement) Current:

DESCRIPTION: Should	X Base Bid or □ Alt.#			
ref. no.	UNIT PRICE EXTENSION (Quantity times Unit Price)			
12	11,018	Linear Foot	\$1.50	\$16,527.00

Change to:

DESCRIPTION: Shoulds	DESCRIPTION: Shoulder Meterial (Reclaimed Asphalt Pavement)				
ref. no. quantity: unit of measure unit rice				UNIT PRICE EXTENSION (Quantity that Price)	
12	2,342	Linear Foot	\$1.50	\$3,513.00	

A difference of (- \$13,014.00)

Total of Change in Base Items = (-\$50,427.50)

a. Contract Item No. 2: Alternate Bid 1: 2 - Inch Depth Cold Plane Current:

DESCRIPTION: 2-Inch	☐ Base Bid or X Alt.# _1_			
rief. No.	QUANTITY:	UNIT OF MEASURE	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
2	42,935	Square Yard	\$1.00	\$42,935.00

Change to:

DESCRIPTION: 2-Inch	DESCRIPTION: 2 - Inch Depth Cold Plane				
rief. No.	QUANTITY:	UNIT OF MEASURE:	UNITIPICE	Uniti Price extrension (Quantity times Unit Price)	
2	43,104	Square Yard	\$1.00	\$43,104.00	

A difference of (+ \$169.00)

b. Contract Item No. 3: Alternate Bid 1: 2 - Inch Depth Asphaltic Wearing Course Current:

DESCRIPTION: 2-Inch [☐ Base Bid or X Alt.# _1_			
ref. no. quantity: unit of measure: unit price				UNIT PRICE EXITENSION (Quantity (times Unit Price)
3	4,723	Ton	\$80.00	\$377,840.00

Change to:

DESCRIPTION: 2-Inch [☐ Base Bid or X Alt.# _1_			
rief. no. quantity: unit of measure: unit price				UNIT PRICE EXTENSION (Quantity (times Unit Price)
3	5,118	Ton	\$80.00	\$409,440.00

c. Contract Item No. 4: Alternate Bid 1: 6 - Inch Depth Asphalt Patching Current:

DESCRIPTION: 6 - Inch	Depth Asphalt Patching		HADER FOR WITH THE	☐ Base Bid or X Alt.# _1_
REF NO.	QUANTITY	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
4	898	Ton	\$125.00	\$112,250.00

Change to:

DESCRIPTION: 6 Find	Depth Asphalt Patching	44444444444	k a maa 3 4 6 4 1 8 .	☐ Base Bid or X Alt.# _1_
ref. no.	QUANTITY:	UNIT OF MEASURE:	unitrige	UNIT PRICE EXTENSION (Quantity (Itmes Unit Price)
4	997	Ton	\$125.00	\$124,625.00

A difference of (+ \$12,375.00)

d. Contract Item No. 5: Alternate Bid 1: Reflectorized Raised Pavement Markers Current:

DESCRIPTION: Reflecte	☐ Base Bid or X Alt.# 1				
rief. No.	ref. no. quantity: unit of measure: unit price				
5	42	Each	\$6.00	\$252.00	

Change to:

DESCRIPTION: Reflectorized Rated Pavement Markers				☐ Base Bid or X Alt.# _1_
ref. no. quantity: unit of measure: unit price				UNIT PRICE EXTENSION (Quantity Almos Unit Price)
5	38	Each	\$6.00	\$228.00

A difference of (-\$24.00)

e. Contract Item No. 6: Alternate Bid 1: Adjustment of Manholes Current:

DESCRIPTION: Adjustra	DESCRIPTION: Adjustment of Manholes			
ref. no. quantity: unit of measure: unit price				UNIT PRICE EXTENSION (Quantity thus Unit Price)
6	10	Each	\$100.00	\$1,000.00

Change to:

DESCRIPTION: Adjustin	DESCRIPTION: Adjustment of Manholes				
ref. no.	QUANTITY:	UNIT OF MEASURE	UNIT PRICE	UNIT PRICE EXTENSION (Quantity (fixes Unit Price)	
6	6	Each	\$100.00	\$600.00	

A difference of (-\$400.00)

f. Contract Item No. 8: Alternate Bid 1: Adjustment of Water Valves Current:

DESCRIPTION: Adjustment of Water Valves				☐ Base Bid or X Alt.# _1_
rief. No.	QUANTITY:	UNIT OF MEASURE	Unit Price	UNIT PRICE EXTENSION (Quantity (Itaes Unit Price)
8	10	Each	\$35.00	\$350.00

Change to:

DESCRIPTION: Adjustment of Water Valves				☐ Base Bid or X Alt.# _1_
rief. no.	QUANTITITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity three Unit Price)
8	4	Each	\$35.00	\$140.00

A difference of (- \$210.00)

g. Contract Item No. 9: Alternate Bid 1: Shoulder Material (Earthen Fill)

_				
\sim				
	ш	ľ	nι	

DESCRIPTION: Shoulde	r Material (Earthen Fill)	****	斯博并不像 多为少分为多	☐ Base Bid or X Alt.# _1_
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
9	10,447	Linear Foot	\$1.25	\$13,058.75

Change to:

DESCRIPTION: Shoulder Material (Earthen Fill).				
ref. no.	**THINAUP	UNIT OF MEASURE	UNITIPAICE	UNITERRICE EXTENSION (Quantity (fixes Unit Price)
9	21,854	Linear Foot	\$1.25	\$27,317.50

A difference of (+ \$14,258.75)

h. Contract Item No. 11: Alternate Bid 1: Shoulder Material (Reclaimed Asphalt Pavement)
Current:

DESCRIPTION: Shoulder Material (Reclaimed Aspiralt Pavement)				☐ Base Bid or X Alt.# _1_	
	ref. no.	QUANTITY:	UNIT OF MEASURE:	UNIT HRICE	UNIT PRICE EXTENSION (Quantity firms Unit Price)
ľ	11	19,856	Linear Foot	\$1.50	\$29,784.00

Change to:

DESCRIPTION: Shoulds	☐ Base Bid or X Alt.# _1_			
ref. no.	QUANTITY:	UNIT OF MEASURE	unit prige	UNIT PRICE EXTENSION (Quantity (times Unit Price)
11	11,586	Linear Foot	\$1.50	\$17,379.00

A difference of (-\$12,405.00)

Total of Change in Alternate Bid 1 Items = (+\$45,363.75)

Total of Change in Revised Items = (- \$5,063.75)

Total of Change in Deleted, Added, and Revised Items = (-\$86,933.75)

Reason for Change Order:

- 1. Deleted Work Items
 - a-c: Items were not required.
 - a-b: Items were not required.
- 2. Add Work Items
 - a: Additional Railroad Striping was required.
- 3. Revised Work Item Quantities
 - a-h: Quantities were revised to match actual work performed in the field.
 - a-h: Quantities were revised to match actual work performed in the field.

Adjustment in Contract Time:

No adjustment in Contract time was required.

CHANGE IN CONTRACT PRICE:	CHANGE IN CONTRACT TIMES:		
Original Contract Price \$1,442,367.25	Original Contract Times: Substantial Completion: 80 Days Ready for final payment: December 19, 2013 (days or dates)		
Net Increase (Decrease) from previous Change Orders No: \$_N/A	Net change from previous Change Orders No to No: Substantial Completion:0 Days Ready for final payment: December 19, 2013 (days)		
Contract Price prior to this Change Order: \$1,442,367.25	Contract Times prior to this Change Order: Substantial Completion: 80 Days Ready for final payment: December 19, 2013 (days or dates)		
Net increase (decrease) of this Change Order: - \$86,933.75	Net increase (decrease) this Change Order: Substantial Completion: 0 Days Ready for final payment: December 19, 2013 (days)		
Contract Price with all approved Change Orders: \$1,355,433.50	Contract Times with all approved Change Orders: Substantial Completion: 80 Days Ready for final payment: December 19, 2013 (days or dates)		
RECOMMENDED: By: By: By: OWNER (Authorized Date: Date: Date: Date: Date: Date:	By: Deem hato		

EJCDC 1910-8-B (1996 Edition)

Prepared by the Engineers Joint Contract Documents Committee and endorsed by The Associated General Contractors of America and the Construction Specifications Institute.

RECORDED IN THE ST. CHARLES PARISH CLERK OF COURT OFFICE ON MAYCH 27, 2014

AS ENTRY NO. 394299

INMORTGAGE/CONVEYANCE BOOK

NO. 569 FOLIO 240